
Graphing Slope Intercept Form.

𝑦 = 2𝑥 + 1 𝑦 = 𝑚𝑥 + 𝑏 𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡: (0,𝑏)

𝑆𝑙𝑜𝑝𝑒 = 
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𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡: (0,1)

Rise
Run

      𝑥       𝑦

   −1    −1

      0       1

      1       3

   −2    −3

Steps:

Plot 𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡: (0,1)

Use slope: ଶ
ଵ
⎯

Plot new Point: (1,3)

Put Point in Other Direction

Draw New Points

Draw line

Arrow Tips

Slope Intercept Method

𝑆𝑙𝑜𝑝𝑒 =
2

1
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Find Equation in Slope Intercept Form

𝑦 − 𝑖𝑛𝑡: (0, −1) 𝑠𝑙𝑜𝑝𝑒 = 𝑚 =
2

3
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𝑦 − 𝑖𝑛𝑡: (0,2) 𝑠𝑙𝑜𝑝𝑒 = 𝑚 = −
3

1
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𝑦 = 𝑚𝑥 + 𝑏

𝑦 =
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3
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1
⎯⎯𝑦 = 𝑚𝑥 + 𝑏

𝑦 = −
3

1
⎯⎯𝑥 + 2

Equation

Substitute b,m

M10 - 7.2 - Slope Intercept Form (𝑦 = 𝑚𝑥 + 𝑏) Notes

   Gra Lin Page 1    


